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PISA 2015: Koncepcni ramec hodnocent
prirodovédné gramotnosti
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Greenhouse Effect
Introduction

Now cick on Next to view the fist que stion.

A student named André becomes interested in the possible relationship between the
average tem persture ofthe Earth's atmosphere and the carbon dioxide emission on the
Eatth.

In a library he comes across the following two graphs.
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André concludes from these two graphs that it is certain that the increase inthe average
tem perature of the Earth's atm osphere is due to the increase in the carbon dioxide
emission.
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